H & 0l & AHS B Ml A

=22 s= 2M 0 23
Ssjlsens
eablgrxd EER=E)
224 Y. B (3H) - ASAY - BaS 0l &y G o HIRS2
2 452,819,883 433,613,026 19,206,857
= 85,465,485
g 3,846,000
Dl 67,927,516
T 295,580,882
= 75,685,722 71,544,001 4,141,721
= 7,345,110
J| 16,282,230
= 52,058,382
G = 74,133,784 69,865,763 4,268,021
= 7,345,110
16,282,230
= 50,506,444
3|8ty 4,806,610 8,212,610 A\3,406,000
S0 =3 A A (HEALE 2,160,000 4,000,000 1,840,000
403 XXX S K20 A 2,160,000 4,000,000 A 1,840,000
01 XEXISHI A =22 & 2,160,000 4,000,000 1,840,000
O990=230l=3 20 S AP 2,000,000
OdF=23 0 =3 2SS AIS 160,000
= ANEX& (HEAIS) 1,244,000 2,810,000 1,566,000
AR S K20 S 1,244,000 2,810,000 1,566,000
01 AXIHNK2EE 1,244,000 2,810,000 A 1,566,000
otSESA&H0|Me| 22 E 1,044,000
O e|I2L 200,000
=SBt =& 15,610 15,610
201 LEt2HH| 4,000 4,000
01 A2l 4,000 4,000
OJdt=&H| 4,000
OZsIISAIERASHNES 4,000
203 YR =&IH| 11,610 11,610
03 AMIBFAHRZ=XIH| 11,610 11,610
O2t==x 8GR FRH| 11,610
Ol MEBTLAIG (M &AL ) 1,387,000 1,387,000
XHHMSOIH 1,387,000 1,387,000
XNEHMEBAEXS 1,387,000 1,387,000
FOH=2ANMGBTLAIG AU Z 503,000
S = MEBTAIE LU= 884,000
PR Reagei = k=l ONE 30,806,774 27,147,729 3,659,045
= 1,478,050
| 16,282,230
& 13,046,444
= AP (X&) 14,428,791 10,280,652 4,148,139
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= A== =
3N Felisads
el Est2FIE X (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
307 2IZtol & 200,000 200,000
02 QZHEMAIH S X 200,000 200,000
Oort2sti=0tES XA 200,000
308 AXIHMSOIH 300,000 300,000
01 MASHNBLExES 300,000 300,000
OAIZ 2t =0t S S X3 A 300,000
NS M=2doR2 15,992,773 15,529,813 462,960
= 875,210
< 15,117,563
STUM=ZAXIE 741,273 741,273 0
= 570,210
= 171,063
308 ARISMSOIE 741,273 741,273 0
= 570,210
& 171,063
01 MXHMBdEx= 741,273 741,273 0
O=S=20r =2 A 741,273
= 570,210
< 171,063
Sol=gat=a 20,000 20,000 0
201 Let2aY| 20,000 20,000
01 At 2teltl 20,000 20,000
Lger+=y| 20,000
OXNgt=gdt7A=MAS 20,000
HSE LT AHAEIE (MEALY) 230,000 230,000
308 XXM SOl 230,000 230,000
01 MASNBSExRS 230,000 230,000
DX EEHAHAEIE 230,000
PIESGES=g=ko, 3,750,000 3,127,740 622,260
307 2IZtol& 2,720,000 2,499,240 220,760
02 QIZHEMAIHE X 1,300,000 1,124,240 175,760
OZact=2sia 800,000
A= nF A2 500,000
03 QIHMEIZHHIZx 120,000 75,000 45,000
=SB4 =02 120,000
04 QIZHHARAIH £ 1,300,000 1,300,000 0
OZAc M =AKIE 1,300,000
308 XXM SOIA 1,080,000 628,500 401,500
01 MXHMBdEx= 1,080,000 628,500 401,500
OXSHEM =M 1,030,000
ASHe=MAA 2,654,600 3,054,100 399,500
308 ARISHMSOIE 2,654,600 3,054,100 399,500




A= EEHS2 2M 230
M 2stozsagals
&elr NGi=24stXd (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K oﬁg% HusZ
01 MXSHHBAEERS 2,654,600 2,754,100 299,500
Ossgu=x 243,300
eI ENE 1,164,600
IESNIGIEPNE! 197,500
Oasu=X& 761,100
O=2sto=x& 288,100
Hlsgroidera 81,750 90,750 A9,000
308 AHXIEMSOIH 81,750 90,750 A9,000
01 XN ELS 81,750 90,750 29,000
WECHIESmES S k=N 81,750
H=Z20 20 646,150 657,950 211,800
308 KEXIEHMSOIH 646,150 657,950 A 11,800
01 AXHHELEELS 646,150 657,950 211,800
OXSo=& 2 d5 X2 619,150
OZsddu=ssg4dstZz2 gl 27,000
N2 =SHSHI2AS (B EHAIY) 1,688,000 1,687,000 1,000
308 AXIHMSOIA 1,688,000 1,687,000 1,000
11 S| 2SS &HASAIE 1,688,000 1,687,000 1,000
DX 220 =S 43 X2 At 1,688,000
NAZSH= WK Z(2-1HH T EALY) 900,000 900,000
308 AFXISHHSO0IX 900,000 900,000
11 S 2 SONHEZE & X I EAI I 900,000 900,000
OXL2eti=nsI | 900,000
RoOPl=sta=s k& 250,000 250,000
308 KFXIEHHMSOIS 250,000 250,000
11 S 2SO0t &= AE AL 250,000 250,000
ORODI==232 sk 250,000
Fa0lz=uUSAMENIA 170,000 172,000 A2,000
= 85,000
(= 85,000
308 AXISHSO0IH 170,000 172,000 22,000
= 85,000
= 85,000
1 S 2S0UetE4EAS AL S| 170,000 172,000 A2,000
D23tz U SAE A LS A 170,000
= 85,000
== 85,000
SOI23tH = NS RR (2-1SAHHEALY) 200,000 200,000 0
308 XXM SO0l 200,000 200,000
1 S| 2SOUEZ &4E A A 200,000 200,000
ORot2stlsns A 200,000
SHFN=HHSEXN (2-1SH A EALY) 574,000 574,000 0




A= EEHS2 2M 230
M 2stozsagals
&elr NGi=24stXd (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K oﬁg% HusZ
308 XXM SO0IA 574,000 574,000
1 S| 2SOUHEZ 4 EAS A 574,000 574,000
OSHFLFHMSLERZ 574,000
ZEES M2 X 3,547,000 2,885,000 662,000
306 £A3 2,327,000 2,385,000 58,000
01 &= 2,327,000 2,385,000 /58,000
OE=2sMd2g R4 2,327,000
308 KEXIEHHMSOIS 1,220,000 500,000 720,000
11 S 2SI E & AE AL 1,220,000 500,000 720,000
OZ=E=2es2H6ER2Y 70,000
OgcletsEs=2g 150,000
LE=0=0t2ta0l 100,000
2 Z2Z0tEZH X Z ALY 100,000
OSsEasii=Ed 600,000
O2s=sSXIE2 082 200,000
F=20=2H2g 100,000 100,000 0
308 AXIHMSOIA 100,000 100,000
11 S| 2SS &HASAIE 100,000 100,000
OZ=0=2H2g 100,000
N 2sts U SXALMHXH 440,000 440,000 0
= 220,000
= 220,000
308 KEXIEMSOIH 440,000 440,000 0
= 220,000
= 220,000
11 S 2S0teE & AET AL 440,000 440,000 0
OX Y =2sttlznSXALHIA 440,000
= 220,000
S 220,000
CEU=H=2gE4dst 10,606, 162 9,976,727 629,435
CYu=H=2d 10,606, 162 9,976,727 629,435
201 LBH2 ] 3,000 3,000 0
01 AF2-2t2ltl 3,000 3,000 0
[ ets=ZH| 3,000
Oz guzst2dedstselsMa 3,000
301 Et2 &= 10,565, 162 9,899,127 666,035
2=t - 2SFSEH3 10,565, 162 9,899,127 666,035
Ocg=aad2s 3,060,943
OoJlzs 2,244,205
-XIZ Xt 5,451,600 1122 65,420
-4 3,511,200 7~ 123 294,941
—XtHA 3,266,600 7~ 123 274,39




A= EI2EHSZ 2M 0 230z
M 2stozsagals
Helr TEHsH2I84st (e A
A= 2A - 3. SR(3) - MIRAY - BES Off &4 OE:IEO_‘E“ HusZ
-=& 3,413, 100337~ 122 1,515,417
-AIRE 2,612,000 «3F 122 94,032
OFS st 2,244,202,800% *1/12x50%+23] 187,017
O&FZSEIHtz 56,280
20014 100,000 x33E « 12& 39,600
-1501 420 01 2
80,0002 +10F 122 9,600
-10= 01415012t
60,000 9L » 122 6,480
-5E01aH0E D2
50,000 18 * 122 600
OZ2gF:IPHt=S 10,200
2580/ &t 30,0002 x26EH 122 9,360
—20 01425 012t
10,0003 x7H 122 840
OB+ 54,240
OiEag 36,240
HH < Xt 40,0002 +35E « 122 16,800
- JIEDS 20,0003 »24H 128 5,760
A (S W) 60,0003 *14H 122 10,080
- RHA (AURH) 100,000& 3+ 12& 3,600
-S0tsd=E
1,500,000« 1H 122 18,000
OHEFOHI
2,244,202,800 *1/12+60%*23] 224,421
Olls=¢ 73,920
X=Xkt 200,000 x1H 122 2,400
-4 150,000& 7+ 123 12,600
RONES 130,000 x7H+ 122 10,920
-=H& 100,000& 37 Z 122 44,400
-AIR & 100,000 x32* 12 3,600
OF = Eat=, 24,000
=& 50,0003 *37H 122 22,200
-ARE 50,0002 «3&~ 123 1,800
OESEEa=, 23,400
X=Xkt 450,000« 1H 128 5,400
-4 100,000 +7% = 12 8,400
—XHA 50,0002 7~ 123 4,200
-AIR & 150,000 x3H 122 5,400
(OFSF=1=-EN | 60,960
X=Xkt 220,000 x1H 122 2,640
=& 90,000& *51H 122 55,080
-ARE 90,0002 «3H~ 123 3,240
OFAZAHI 85,800
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HMEE
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Ofl &F2H

81,120
4,680
16,500
272,050
95,530
18,000
10,000
1,000
4,000
11,530
5,000
4,000
4,000
1,000
13,000
24,000
20,000
8,000
4,000
4,000
10,000
10,000
117,200

52,200
25,000
40,000
21,320
2,000
10,000
2,000
7,320
80,000
50,000
9,000
26,000
51,300

1,277,456

- SHRAZA) - HRANY - BES
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130,000 x3&* 122

130,000& x52F 123
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3,082,300 1~ 123
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AR 23BRH 2 2 230=D
3 2o0isaATE
Cel: SE=H2Ie4dst CEEREE
A= - 24 - 3 - GRA(3AH) - HRAE - BES Ofl &F2H gﬂg% BlunsZ
-=& 2,766,700 x20E « 12 664,008
AR E 3,213,500 x2H 123 77,124
oga+¢ 896, 191,200 * 1/ 12+50%*23] 74,683
OZ2xgHt= 19,080
205012 100,000& x4« 123 4,800
-15E0 42001 2t
80,0002 x3& * 122 2,880
-10=01a415H 01 2
60,0003 »5& 122 3,600
510140 0] 2
50,0002 x13E«12& 7,800
Od2=g=Ibtts 1,200
2530/ & 30,0008 x3& * 122 1,080
2001 af25H 0 2
10,0002 *1E 122 & 120
OIH28 =g 60,720
OiEag 6.720
B <= Kt 40,0002 x7&* 122 3,360
JIEDE 20,0002 x14F 128 3,360
-SR0S
1,500,000& x3E « 12 54,000
OgEFIHI
896, 191,200& *1/12x60%+23] 89,620
Olils+¢ 33,720
-2 %t 180,000& x 12 =123 2,160
-2 150,000 x1& =123 1,800
=4 150,000 x 12 * 122 1,800
—XHA 130,000 x1&* 122 1,560
= 100,000 x20& « 128 24,000
AR 100,000& x2&* 123 2,400
O&d==¢ 13,200
-chel 50,0002 x20E * 122 12,000
A 50,0008 x2& * 122 1,200
O =g 11,400
-2 %t 300,000& x1H*12& 3,600
-2dd 200,0003x1&x12& 2,400
=4 100,000 x1&* 122 1,200
—Xh4 50,0002 x1& x 122 600
-AIR & 150,000& x2&~ 123 3,600
(OFSF=1=-EN | 29,280
—Qt2 Xt 170,000 x 12 * 122 2,040
-2 110,000 x1&* 122 1,320
-EH 90,0002 x22F 122 23,760
-AIR& 90,000 =2 * 122 2,160
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AR 23BRH 2 2L 2s0l=n
A 2olsMRE
Cel: SE=H2Ie4dst CEEREE
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307 2I2to1 38,000 36,000 2,000
02 QIIHAANGER 38,000 36,000 2,000
Hzeicla=2g 38,000
308 XXM SOIA 450,000 450,000
01 AXEHB 2 LS 450,000 450,000
O&H0l=2249HI K& 450,000
A2 M RGRIH (228 EALY) 189,000 512,000 323,000
403 X SHHMSAH=01H 189,000 512,000 323,000
01 AXISHHA =2 £ 189,000 512,000 A323,000
A2 A28 189,000
ME 2SI X (228 HHEAL) 5,275,000 6,398,000 A 1,123,000
403 AXIEHMSA=0l1d 5,275,000 6,398,000 21,123,000
01 MXIHHA 22 5,275,000 6,398,000 A1,123,000
UHE=SHHEE XS 5,275,000
SO SZHE X (HEAY) 1,236,000 1,174,000 62,000
403 TR SHMSAH=01 ™ 1,236,000 1,174,000 62,000
01 AR A =2 £ 1,236,000 1,174,000 62,000
O A=Y E0 =2 HE 690,000
OAE0Is2H22AELSH 546,000
ESHAHAFERE 4,468,200 6,657,200 12,189,000
AS2H=TERXR 1,600,000 1,644,000 244,000




A2 2RPHS2 SN 2sae
M 2epP|EAgF
el SRt sdXE (SH9 H2)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
306 £= 1,600,000 1,644,000 244,000
01 9= 1,600,000 1,644,000 244,000
OE=2=dE2=2Y 1,600,000
T =Y=]d 1,548,200 733,200 815,000
201 er2 3| 6,300 6,300 0
01 AtR2te|HI 6,300 6,300 0
e et=EH| 6,300
O3IMFROUS 6,300
308 XtXIEMSO0IH 1,541,900 726,900 815,000
01 AXNBEES 321,900 276,900 45,000
US0tECI 22 A A 10,000
LOXE28 =X A& 130,000
OHE=MADIEZSSMAIA 40,000
O=LI2t22I0t=HIG 2t X & 13,500
Leletol ssE=a2dxd=At 24,000
OZ3FATLAX & 29,400
LIN162| &= = 0totEEMeA X1 3 30,000
UEetH& & 45,000
11 SI[2S0 e YA AS A 1,220,000 450,000 770,000
UM21sld a4 =oAL 2E2H 40,000
LY=ot S 2H 0l & MA X 150,000
OE=E2ZHI M2 120,000
OAESAECIEHelSdAS 110,000
S HI T XITVAIZI 2 HIE 500,000
LK-AECI M AL AKX R 300,000
BEZE ISR UHSS A (AT RIH) 345,000 400,000 55,000
308 AtXIEMSOIH 345,000 400,000 55,000
01 XN B2 LS 345,000 400,000 55,000
OS2 =) X2 A 345,000
ZEI=22/0tE2 S (RIIETX) 345,000 400,000 55,000
308 AtAIEHMSOIE 345,000 400,000 55,000
01 X HHBAEXS 345,000 400,000 55,000
28 =320t =g X2 345,000
122 =F )L XA (2 XR) 30,000 30,000
308 AFAIEHMSOIH 30,000 30,000
1 S| 2 S0 UEHE 4 AS A 30,000 30,000
L1228 = 0[S XA 30,000
XA SEH2EZHLX AL (ST X ) 820,000 400,000 80,000
308 AHXIEMSOIH 320,000 400,000 280,000
1 SIS0t YA AS A 320,000 400,000 80,000
OXNSEaZH =L X2 A 320,000
SAFHAXZAG (FIHEEXIR) 180,000 200,000 A20,000
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A= 2o BBH SR
mal: A= LY
ool =T

AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
OZ=E=4m el 100,000
308 REXIHMSOIH 50,000 50,000 0
11 B2 S0 &2 AI I 50,000 50,000 0
OZ=SFABIZ LI NFALS 50,000
HHY ALY (23Hard ) 60,900 60,900 0
Jl=2Zhl 60,900 60,900 0
JlE2Zl 60,900 60,900 0
201 Let2| 23,400 23,400 0
01 Ar22eltl 23,400 23,400 0
I et==H| 9,000
OMNRESL=SSHLI 5,000
OAXRAREANSERYHI 4,000
O=2l 14,400
OgRFaZAH| 14,400
202 o4t 34,500 34,500
01 =WHO4 bl 34,500 34,500
OHRFE 0] 34,500
203 PR =&H| 3,000 3,000
M FA2LHRFAHI 3,000 3,000
[J15210/ 5t 3,000




A £ 0l & AF & S

Al A

A= FI}2EBHE= A 1 SatRet
M MERARMAMAHABEZ2HE
el 22| EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
el S 131,283,179 110,955,092 20,328,087
= 77,820,375
| 9,651,480
& 43,811,324
HE RS AH B B E 2t 131,203,199 110,882,012 20,321,187
= 77,820,375
| 9,651,480
s 43,731,344
ZIME=FH| 90, 149,153 74,772,501 15,376,652
= 63,986,620
| 2,422,150
T 23,740,383
FAMESEHUI=E 9,720 9,720 0
201 23| 5,400 5,400
01 AtR2eltl 5,400 5,400
[ Bt==2H| 5,400
OFHMESZHIFIARESFLUS 5,400
203 ZR =& 4,320 4,320
03 AR FRIHRFAIH| 4,320 4,320
=2t gR= 4,320
2HXNE 2 HE > (XIE) 53,857,807 45,409,625 8,448,182
= 43,986,620
& 9,871,187
403 XX SHHSKH=01A 53,857,807 45,409,625 8,448,182
= 43,986,620
= 9,871,187
01 MRSt AH22 £ 53,857,807 45,409,625 8,448,182
O=ItXNE 22 == 53,857,807
= 43,986,620
& 9,871,187
SN ESFMES (AR E X REE2E) 24,285,714 18,109,035 6,176,679
= 20,000,000
= 4,285,714
403 X HMS 201 24,285,714 18,109,035 6,176,679
= 20,000,000
s 4,285,714
01 XX SN A= E X 24,285,714 18,109,035 6,176,679
OV HE S E (Lt AHARA) 24,285,714
= 20,000,000
& 4,285,714
EXNE=ZSME> 9,000,000 8,000,000 1,000,000
403 XIS MSKHE01A 9,000,000 8,000,000 1,000,000




2= EHBHE= N o 23Rt
M NSEIFMAMABEE 2]
oelr EstHEsEsI EER=E)
4224 - HY - G9I(E0) - AIRAY - B of v G o HIDE2
01 AXISHHA=2 2L 9,000,000 8,000,000 1,000,000
O=ANE 2 HE > 9,000,000
S XA A= 2,895,912 1,794,121 1,101,791
Jl 2,422,150
= 473,762
403 AXIEHMSA=01d 2,8%,912 1,794,121 1,101,791
Il 2,422,150
= 473,762
01 XM =22 E 2,8%,912 1,794,121 1,101,791
SHHIH X AIA R RS 2,8%,912
Jl 2,422,150
= 473,762
S E> 100,000 100,000
403 MR SHHMSAH=01H 100,000 100,000
01 AXISHHA 22 £ 100,000 100,000
O=stiids=2s 100,000
SAMES XS 12,706,346 10,679,297 2,027,049
= 487,900
Jl 7,079,380
< 5,139,066
EHHES K= 102,000 23,000 79,000
201 er23| 23,000 23,000 0
01 AtR2t2|HI 3,000 3,000 0
eS| 3,000
OZMESXNAFIUANRES LIS 3,000
03 A2 I 20,000 20,000 0
O HAE MM S EEA2ES 20,000
303 Za= 19,000 19,000
01 Za= 19,000 19,000
DS HAIMZ=NEIAIS S 19,000
308 AXIHSO0IA 60,000 60,000
01 HAHHBSEEXS 60,000 60,000
OHBIES M EAZSBIX 60,000
ISENdEE=N 370,000 370,000 0
201 =3 370,000 370,000
01 At22t2l] 370,000 370,000
g et+=ZH| 370,000
OZ=2r482 370,000
S}HNZ 02 SHINA 39,000 39,000
308 AXIMSOIA 39,000 39,000
01 HXHHBAEES 39,000 39,000
U2 HAIZ 012 SHIX2 39,000




A= 2e2EH=E= A 1 SatEAH
M NSEIFAAMAREEZ 2]
ol S}MESXE EER=E)
AT 2N FE . () - ARAY - BES Ofl b Oﬁ]gﬁ HDE2
IRl XE 58,500 58,500 0
= 58,500
308 XXM SOIA 58,500 58,500 0
= 58,500
01 XN B2 LS 58,500 58,500 0
O=sMarztel 58,500
= 58,500
SHYHAIE =22 K& 820,392 821,397 21,005
) 726,929
[ 93,463
308 AHXIEMSOIE 820,392 821,397 A 1,005
Jl 726,929
[ 93,463
01 XM B EES 820,392 821,397 A1,005
O2SHHIH XAl A B S X2l 820,392
) 726,929
< 93,463
EXNE 2 ML XA AR AR 200,000 165,000 35,000
403 AXIEHHISAH=0lH 200,000 165,000 35,000
01 AXESMA2EE 200,000 165,000 35,000
O X2 M XA A= 200,000
SSHUTHEEA AR 2H 2 95,252 0 95,252
= 84,400
[ 10,852
308 XXM SOIA 95,252 0 95,252
= 84,400
< 10,852
01 XN EES 95,252 0 95,252
OS2 HETHESA AR L2 95,252
= 84,400
< 10,852
S M ZH XL EE 4,154,800 3,437,556 717,244
2l 3,196,000
[ 958,800
308 AIXIHHISOIA 4,154,800 3,437,556 717,244
Jl 3,196,000
[ 958,800
01 XM B EES 4,154,800 3,437,556 717,244
D23t e & ZH| el Hl X 4,154,800
) 3,196,000
< 958,800
ZHSS A 6,312,902 5,032,844 1,280,058




hoH

9,258,000

Z}2BHE=
NS 2R AT HE EE 2|
SMESKE EER=E)
=24 BB O3 - MRAY - BAS ol & A HIDS2
3,156,451
3,156,451
307 212+01 A 6,091,902 5,032,844 1,059,058
3,045,951
3,045,951
02 QIZHBAAIEE X 6,091,902 5,032,844 1,059,058
[J=2stH=s At 6,091,902
3,045,951
3,045,951
401 A& HIZLS0HY| 221,000 0 221,000
110,500
110,500
02 eyl 221,000 0 221,000
OZ0IE=EAES 221,000
110,500
T 110,500
S MAA 2 2SN (=X E) 105,000 105,000
308 AXIHMSOIH 105,000 105,000
01 AIXISHNHBAEES 105,000 105,000
O XN E 2 MEE 2| XIJ 105,000
=l N Pl ges = RN Vel k= La= g1 ) BN 390,000 390,000 0
= 300,000
& 90,000
308 AEXIHMSOIH 390,000 390,000 0
= 300,000
T 90,000
01 AXSHHBLERS 390,000 390,000 0
2t et S Xtel & s 1=l 390,000
= 300,000
= 90,000
A= OIHIZ 3HH = ALK& 58,500 0 58,500
= 45,000
& 13,500
308 AXIEHMSOoIN 58,500 0 58,500
= 45,000
& 13,500
01 IXSHHBLNEXS 58,500 0 58,500
CAFROIHI 23HH EARKI2 58,500
= 45,000
T 13,500
A2 o2 B TR E A S 11,008,000 8,845,000 2,163,000
1,750,000




A= 2aEHS=2 = A
M MNERSRLAMAHAREE2t
Eelr A2 AR EA S (SH9 H2)
Al = £ o|(5 = dET =
A= 2A - 3 . SRA(3AH) - MIRAY - BES Off &K Ol Akt HwEZ
ANEHE2FI AT S (HBHANRT) 3,160,000 3,875,000 A715,000
403 MRS =01 3,160,000 3,875,000 A715,000
01 A= 2L 3,160,000 3,875,000 A715,000
OEFIAM2 AR 3,160,000
222N L (M EALY) 5,123,000 2,600,000 2,523,000
403 XM EXH=01 ™ 5,123,000 2,600,000 2,523,000
01 AXISHHA=2 2L 5,123,000 2,600,000 2,523,000
I A SERETAI2AY 4,973,000
OotSUEMRA0IALERALY 150,000
s UFHAAAN2SIESF2AHE 2,625,000 2,250,000 375,000
= 1,750,000
S 875,000
403 MRS =01 2,625,000 2,250,000 375,000
= 1,750,000
(= 875,000
01 A= 2L 2,625,000 2,250,000 375,000
(oS A AANRSIBREAHE 2,625,000
= 1,750,000
= 875,000
@l et2EUNESE 100,000 0 100,000
308 KFXIEHHMSOIS 100,000 100,000
01 AXHHBAELS 100,000 100,000
Ot SACNEMESHRAE 100,000
DE2ESEIEAMY 1,893,500 1,307,000 586,500
= 1,670,000
(= 223,500
NEOI0IXIEI A (FHER—F KOt 2 Z 208 1,828,500 1,242,000 586,500
= 1,620,000
= 208,500
403 MM S =01 1,828,500 1,242,000 586,500
= 1,620,000
== 208,500
01 XXt AH22 £ 1,828,500 1,242,000 586,500
ODE0I0IXIRIIALY 1,828,500
= 1,620,000
= 208,500
DEF0ESAZ A 65,000 65,000 0
= 50,000
(= 15,000
308 XXIEHHMSOIA 65,000 65,000 0
= 50,000
= 15,000




A= 2IEEHE= 2L 2eRA
X JSEIIRMAMAFEE2
el DEEESYAEAEY (SH9 H2)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
01 IXHMBdE2x= 65,000 65,000 0
OuE=02S X3 A 65,000
= 50,000
5 15,000
SN ENE 4,414,204 4,786,399 A372,195
= 2,605,257
Il 130,000
& 1,678,947
I=Stae 452,000 230,000 222,000
201 Ler2ay| 12,000 0 12,000
2 ss=23Hl 12,000 0 12,000
CAIE2EHIS A 12,000
Ost=F8AILEHI= XIS 12,000
307 2Izto| A 100,000 100,000
02 QIZHEMAIH 2 X 100,000 100,000
OESFLENLMATL IS HE 100,000
308 ARISMSOIE 340,000 130,000 210,000
N SJ2So U3 aX A=A 340,000 130,000 210,000
W=Dl E3=P E=PNL=! 50,000
OBtNdSMSA 22t 90,000
WEpl= B ES 200,000
MY SHALS 765,600 764,150 1,450
= 528,000
== 237,600
308 XXM SOl 765,600 764,150 1,450
= 528,000
5 237,600
01 MXHMBdEx= 765,600 764,150 1,450
O 23 ALY 765,600
= 528,000
< 237,600
SUWNAZSHEZAY 1,091,850 1,046,900 44,950
= 753,000
< 338,850
308 XXM SOl 1,091,850 1,046,900 44,950
= 753,000
= 338,850
01 IXHMBdEx= 1,081,850 1,046,900 44,950
OguANe2s HESAIY 1,091,850
= 753,000
5 338,850
S MO ZZ2 A 562,600 645,250 A\82,650




A= E2EHS2 A 2346
M MNERSRLAMAHAREE2t
cel: 2 HESIE (St &)
A= 2A - 3. SR(3) - MIRAY - BES Off &K %E% HusZ
= 383,000
S 174,600
308 AXIHMSO0IA 562,600 645,250 A82,650
= 388,000
S 174,600
01 XN ELS 562,600 645,250 A82,650
LIS HOF AL 562,600
= 388,000
(= 174,600
HSAALZ S HE S ALY 153,700 126,150 27,550
= 106,000
s 47,700
308 AXIHMS0IA 153,700 126,150 27,550
= 106,000
S 47,700
01 MXSHHBAEERS 153,700 126,150 27,550
O SAAZSHE S ALY 153,700
= 106,000
= 47,700
N 2ot o= 169,000 143,000 26,000
| 130,000
== 39,000
308 KEXIEHHMSOIS 169,000 143,000 26,000
) 130,000
= 39,000
01 MXSHHBAEERS 169,000 143,000 26,000
OXY2sRANK 169,000
J| 130,000
S 39,000
23 LA 109,604 755,149 2645,545
= 77,257
= 32,347
403 XX SHHSA=01H 109,604 755,149 A645,545
= 77,257
== 32,347
01 MHXISHHEER 109,604 755,149 A64b,545
CI2SHHOHHEHEHI ALY 109,604
= 77,257
S 32,347
DASIIHEEAY 910,600 890,300 20,300
= 628,000
(= 282,600
308 AXISHSO0IH 910,600 890,300 20,300




A= FI}2EBHE= A 1 SatRet
M MERARMAMAHABEZ2HE
cel: 2 HESIE (St &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
= 628,000
= 282,600
01 AXIEHZLAEXS 910,600 890,300 20,300
ODNSHSIEES MY 910,600
= 628,000
& 282,600
ol 18,000 40,500 A22,500
308 AXIHMSO0I& 18,000 40,500 A22,500
01 XN BAELS 18,000 40,500 A22,500
20232t =2 M 2ol A LA F2o 7ot
g 18,000
ICTAZZ2E =N XA 181,250 145,000 36,250
= 125,000
& 56,250
308 RXISHMSOIH 181,250 145,000 36,250
= 125,000
& 56,250
01 XN EXS 181,250 145,000 36,250
ICTA Z 2 = XI& 181,250
= 125,000
& 56,250
NAHR AR ELES 7,330,044 7,426,235 296,141
= 5,594,938
= 1,735,156
HASASESFE 342,740 182,740 160,000
201 2Et2 & 11,000 11,000 0
01 ArR22elt| 11,000 11,000 0
[ et==H| 5,000
ONAHIS AR MATIZE RIS 5,000
O2g+Y 6,000
ONAIR ARSI 2GS L TAHIS 6,000
203 IR F&] 7,740 7,740
03 Al Z=ZIHSZ=XY| 7,740 7,740
SNV 2SRAMARMASELRE
& 7,740
308 KXIHMSOIH 224,000 144,000 80,000
01 XN EES 24,000 24,000 0
Osht==MAMU &M= XA 24,000
11 SISO E AR PEAIS I 200,000 120,000 80,000
ORUAZHMADISSAEZ ALY 100,000
CIRHIA MDD I ERASTHZ=EIALY 100,000
401 AIEHIZL 28I 100,000 100,000
01 Al&Hl 100,000 100,000




stz aS=2 A 2B
HE 2SS0l H X 2 =R
NHSUEELESE (SH9 H2)
A - B - BRI(EH) - HRAY - B ofl &t G o HIDEZ
| Dg=ozjgdxne 100,000
IS S E BRI A (B HAAOLS ) 3,512,643 4,232,254 AT19,611
= 3,112,468
= 400,175
408 XHXI EHAI S K201 3,512,643 4,282,254 AT19,611
= 3,112,468
= 400,175
01 XM X =2 3,512,643 4,282,254 AT19,611
CIAITIS AR E BRI AT (B2 A ALOLE) 3,512,643
= 3,112,468
= 400,175
RIS A S E BRI A (S 2L DA 656,727 173,800 482,927
2 581,910
= 74,817
403 XX SRS X201 & 66,727 173,800 482,927
= 581,910
= 74,817
01 IXIEHH X =R Z 656,727 173,800 482,927
CIAIIS AP EBRIAIY (S 22 DA 656,727
= 581,910
= 74,817
IS4 E 22 A (MAF, BER O AHRISR) 948,000 700,730 247,270
2 840,000
= 108,000
408 RXI SIS K201 & 948,000 700,730 247,270
2 840,000
= 108,000
01 NIXIEHH =R 2 948,000 700,730 247,270
DI AP ERIIAL (AHAF, BH2OIAH RIS
) 948,000
= 840,000
= 108,000
IS E BRI A (B0 A 2 ) 300,648 365,861 A55,213
2 261,840
= 38,808
408 TXI SIS KH=0I & 300,648 365,861 A55,213
2 261,840
= 38,808
01 NIXIEH X2 X 300,648 366,861 A55,213
DS AR ERRIAI (B MR 300,648
= 261,840
= 38,808
HAHDISS M2 DT 282,750 195,000 87,750




A== A - 2ateAt
HSESRAAMAREE 2t
NARMEZELES EEREE)
LA B SRI(E) - AISAY - BES of v G o HIDE2
= 217,500
=S 65,250
308 XtXIEMSO0IH 282,750 195,000 87,750
= 217,500
== 65,250
01 XN BSELES 282,750 195,000 87,750
OMAD IS =7 AE2XEH 282,750
= 217,500
& 65,250
NASMSHFI2E (B2 M) 240,000 240,000 0
308 AHXIHMSO0IA 240,000 240,000
01 XN EES 240,000 240,000
COMARMASHRI 2Ll (Bt=2 M) 240,000
NAIRAEES T2 ) 654,836 744,250 A89,414
= 503,720
== 151,116
308 AXIMSOIA 654,836 744,250 A\89,414
= 503,720
< 151,116
01 HAHHBSEEXS 654,836 744,250 N89,414
OMA=AE2EEZ 1) 654,836
= 503,720
= 151,116
NASAZSERR (EH=2A M) 100,750 104,000 23,250
= 77,500
=S 23,250
308 XXM SOIH 100,750 104,000 23,250
= 77,500
== 23,250
01 MRHH B EES 100,750 104,000 A3,250
OHHSAESEXI (B =22 M) 100,750
= 77,500
& 23,250
NIAISADICIHOIEE(2HAE X)) 261,000 300,000 39,000
308 AXIHMSO0IA 261,000 0 261,000
01 XN EES 261,000 0 261,000
J2023 = Al HI R AtDICI O OtE 261,000
B RUIADHARASTHFE 30,000 0 30,000
308 AtXIEMSOIH 30,000 0 30,000
11 SIS0t 4 A AS A 30,000 0 30,000
LEHE RUADHHTASHF=NS S LA
= 30,000
S A2k 1,979,020 1,632,500 346,520




AR SHBPHSD SN REHRA
M NS2IRAMAHE B =22
ol 22 EER=E)
AT SA - FE . B(BH) - HEAY - B ofl vy aET HD=2
a=-FM-3%-8 o 8= = ofl &b s2
= 1,138,500
J| 19,950
& 820,570
S MAEHE L AR 2| =R 8,055 8,055 0
201 LE2AHH| 8,055 8,055
01 AFR2telH| 8,055 8,055
OBt4=ZH| 8,055
OSIIMAHHBLAR 2L FEANRES
HIS 8,055
S} MEAIL RS 2H 125,000 125,000
201 LBt AH| 125,000 125,000
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